SUBTRACTING UP TO 1 000 000 WITH CARRYING (H - SET 2)

SUBTRACTING UP TO A MILLION

Name:

Time:

Score:

1) 933687 — 457327 =

22) (87537 — 533011 =

723 686039 — 446399 =

24 604132 — 489830 =

25) 437451 — 421309 =

726 575380 — 203616 =

21 439792 — 394379 =

28 632756 — 91243 =

720 850036 — 479230 =

0 932362 — 904106 =

i) 216325 — 23711 =

2 634093 — 8183 =

3 240687 — 232974 =

1) 479468 — 280152 =

5 280784 — 53348 =

Mathematics: Subtraction - Level 8 - Horizontal - Set 2
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570420 — 413036 =

902830 — 434292 =

724244 — 171396 =

894019 — 623682 =

231417 — 3211 =

865776 — 548508 =

264752 — 93993 =

475261 — 51578 =

780574 — 58938 =

614359 — 43263 =

525190 — 233167 =

H08485 — 354321 =

456184 — 293556 =

461551 — 313852 =

566542 — 448328 =
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